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QUESTION 1

What is the process that must be followed by a System Administrator to create a user in the Client?
A. Create an email account to confirm access after User setup.

B. Assign a Global Profile, Project Profile, and Responsible Manager.

C. Request approval from the user\\'s manager before completing the profile.

D. Assign a Role to the User before assigning security profiles.

Correct Answer: D

QUESTION 2

Cost Variance is calculated as .

A. Earned Value Cost - Actual Cost

B. the Actual Cost of Work Performed

C. the Budgeted Cost of Work Scheduled

D. Budget at Completion - Earned Value Cost

Correct Answer: A

QUESTION 3

Select two true statements regarding Calendars.

A. Global Calendars are available to a subset of projects.

B. Project Calendars are available for the current project only.

C. Only a limited number of calendars can be created.

D. Resource calendars are applied to all Resources with the same Primary Role.

E. Activity type determines whether the activity uses Resource Calendars for scheduling.
F. Activity Calendars are managed by individual Resources.

Correct Answer: EF

Latest 120-535 Dumps | 120-535 Study Guide | 1Z20-535 Braindumps

2/3


https://www.passapply.com/1z0-535.html
https://www.passapply.com/1z0-535.html
https://www.passapply.com/1z0-535.html

VCE & PDF https://lwww.passapply.com/1z0-535.html|
2024 Latest passapply 1Z0-535 PDF and VCE dumps Download
PassApply.com

QUESTION 4

The ProjectManager selects the "Update units when costschange on resource assignments"optionon Calculations tab in
Project Details. The Budgeted Cost is $2,000 and the Budgeted Units is 80 for the resource on an activity. If the User
assigns the activity an Actual Cost of $1,000, what is the Actual Units for the resource?

A. 70

B. 40

C. 60

D. 80

Correct Answer: B

QUESTION 5

Identify the true statement.

A. The Must Finish By constraint is used as the starting date for the backward pass.

B. The Must Finish By constraint forces all activities In the project to finish by that date.

C. The Must Finish By constraint affects thetotal Role limits for the project.

D. All activities have negative total float without a Must finish By constraint assigned to the project.

Correct Answer: B
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